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QUESTION 1

Given the following declaration, what declaration of B would cause the structure Ato be invalid? DCL K 

FIXED BIN (31) VALUE (10); 

DCL P POINTER; 

DCL 1 A BASED (P), 

2 B FIXED BIN (31), 

2 C DIM (K REFER (B)), 

3 D FIXED BIN (31), 

3 E CHAR (4); 

ALLOCATE A; 

A. 2B FIXED BIN (31), 

B. 2B FIXED BIN (31) INIT (K), 

C. 2B FIXED BIN (31) INIT (10), 

D. 2B FIXED BIN (31) INIT (20), 

Correct Answer: D 

 

QUESTION 2

Given the following code, which condition would be raised first (if ENABLED)? 

DCL A(50000) CHAR (8); 

DCL I BIN FIXED (31); 

DCL J BIN FIXED (15); 

DCI = 1 TO 100_000; 

J = I; 

A(J) = I; 

END; 

A. SIZE 

B. FIXEDOVERFLOW 

C. SUBSCRIPTRANGE 
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D. CONVERSION 

Correct Answer: A 

 

QUESTION 3

Which code should NOT be split out into separate subroutines? 

A. Redundant code in a program. 

B. Redundant code in a group otprograms. 

C. Dead code in a program. 

D. Code which must be available on different platforms. 

Correct Answer: C 

 

QUESTION 4

Given the following code, what are the default attributes of DSET1 after the READ statement? 

DCL DATA CHAR (80); 

DCL DSET1 FILE; 

READ FILE(DSET1) INTO(DATA); 

A. SEQUENTIAL RECORD INPUT 

B. STREAM INPUT 

C. DIRECT INPUT 

D. KEYED RECORD INPUT 

Correct Answer: A 

 

QUESTION 5

If the PROC name is less than 8 characters, what ENTRY point should be specified for a PL/I routine which will be
FETCHed? 

A. PLISTART 

B. CEESTART L 

C. The PROC name 

D. The PROC name followed by a `1\\' 
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Correct Answer: C 
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